TEST ITEMS
Mathematics (HSSC-II)

( A Research Project)

Federal Board of Intermediate and Secondary Education, Islamabad
Islamic Republic of Pakistan
2003

=
wn
TS
S
235
S
“ID
[
o N
o
o
i
-
2 %
i2
Lo
&8
)
'EH
S
4o
a e
- e
™ 1D
-
g
]
=R




TEST ITEMS

Mathematics (HSSC-I1)
(A Research Project)

Federal Board of Intermediate and Secondary Education, Islamabad
Islamic Republic of Pakistan
2003



INTRODUCTION

When the previous Government was obliged to assume power in October 1999, it found
graft and corruption rampant in the country, the economy in a tailspin, and governance in the
doldrums. It had to sem the rot and introduce far-reaching changes and reforms in all sectors of
national life, including the economy, human resource development, health, education, etc., to
keep pace with the dynamics of a fast-changing world.

In the crucial nation-building field of education, a package of reforms, named the
Education Sector Reforms (ESR), was introduced. It was to be implemented over a period of
time, the primary aim being to modernize education through the use of new methods and
technologies. The present democratic government has wisely decided to continue and consolidate
the reform process and the innovative policies introduced by its predecessor with a view to
improving governance, alleviating poverty, ensuring socio-economic progress and, last but not
least, ameliorating the lot of the common man.

The ESR package encompasses all aspects of education, including scientific and technical
instruction, requiring reform and qualitative as well as quantitative improvement. One of the
areas needing reform is the Examination System, which falls within the purview of the
Examining Boards in Pakistan. Educational evaluation forms the hard core of quantitative
dimensions of any education system, which should primarily focus on assessing the capacity of
students for systematic application, analysis and synthesis of knowledge and consciously aim at
promoting comprehension and assimilation of knowledge as well as inculcating and stimulating a
gpirit of inquiry in the students. An inquiring mind and insatiable curiosity make for discovery,
innovation or invention, and must be the ultimate am and objective of all education.

A concerted effort was made at the level of Inter-Board Committee of Chairmen (IBCC)
to introduce modern methods and techniques for critical evaluation of the performance and
potential of students. As a part of this, IBCC issued guidelines for development of test
instruments (Question Papers) predicated on modern concepts of performance evaluation. As a
first step, 60% weightage was given to questions of the objective type and short answers and
40% to those of the subjective type, and the Boards were asked to follow the new guidelines.



In consonance with the IBCC directive, FBISE took the initiative and arranged a
workshop in the Science subjects of Physics, Chemistry, Biology and Mathematics at HSSC-|
level last year, to impart professional training to teachers and to facilitate students. The initiative
was highly appreciated by one and all. New textbooks have been developed at HSSC Part-I|
level this year, there was a need to prepare Test Items in the  afore-mentioned subjects for
HSSC Part-11 also. For the said purpose, FBISE organized a four-day workshop from 28th to
31st July, 2003 which afforded another opportunity for training to the teachers selected from
ingtitutions in Pakistan and overseas within the jurisdiction of the Federal Board along with the
preparation of model test items.

It is hoped that the test items developed in the workshop will serve as guidelines for
teachers in developing more such items for critical evaluation of the performance of students.

FBISE would be only too glad to welcome any suggestions that might be offered, or any
error of omission or commission that might be pointed out, for effecting further sustainable
improvement in educational standards aswell asin the quality and focus of education as a means
to enlightenment and intellectual enrichment.

We are thankful to the Teachers and Resource Persons/Coordinators who worked
diligently and with unwavering commitment and dedication to help give final shape to this
publication.

MAHMOOD-UL-HASSAN NADEEM
Director (Resear ch)
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CHAPTER-1 (Functions & Limits)

Fill inthe blanks:

The term function was recognized by a German Mathematician

The volume of spheredependsupon ...............

Degree of 2x*—3xy> + 2X* + 1iS ....covvvvennnn.

If the degree of a polynomial functionisl, thenitiscaleda.........
Rangeof sinxis...........
In natural logarithm, thebaseis..................

If X & y arenot separable, thenitiscaled .............. function.

If h(x) = x3, thenitisan

Lim (2x-3)°= ..

X® 4

Lt (€)=

X® ¥

f(x) =x’is......

............ function.

X =acosq, y =bsinqare parametric equationof .................
(f*of) (x) = f of (x)=......
If f(x) £ g(x) £ h (x) for al real number x containing C and if lim

Lim h(x) =

X® c

X® ¥

For continuous functionLim f(x) = ................

Log x isnot defined at x =

Domain of f(x) = VX is ......
Domain of f* =

Lim
X® 0

Sin7q=
q

X® a

f(x) =L and
X® ¢
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Encircle the correct answers:

The domain of f(x) = x? is the set of all Rational Nos.
If avertical line cuts a graph in more than one point, then it is a function.

For any set X afunctionl : X ® X orI(x) =x," xeX, itiscaled aninversefunction.

Rational function is defined as where P(x) / Q(x) are polynomials and Q(x) * O.
Domain of sec*is{x : xeRand x  (2x +1) p/2}.
If g(x) = 2" thanit is called a logarithmic function.

T/F
T/F
T/F
T/F
TIF
T/F

When variables x & y are expressed in terms of another variable, then it is called polynomial

function.

Cosine function is an even function.

Let f & g befunction defined on variable x then f g(x) = gf(x).
lim (x™a)/ (x-a) = nd"*

X® a

It sin90%90°=1

x® 0

If f(x) =3x +2asof(x) =17, thenx =5.

Iff:x® x+2thenf tisy + 2.

If f(x) = VX & g(x) = V4-x*then (f/g) (x) at x =1 is given by \3.
If f(xX) = sinx + cos x then it is neither an even nor an odd function.
Parametric equation of hyperbolaisx =asecqy =atanq.
Theinverseof logx =yisx = ¢

Areaof sector of acircle of radiusr is ¥ rg?

The graph of y* = 4ax is symmetric about x-axis.

Volume of a cube can be expressed as the area of its base.
Thelimit of thezsequmce 112,022 U2°............. 1/2" approaches to zero (N ® ¥)
Equation y = ax” + bx + c always represents a parabola.

lim 3xX“+x+4 =16

X® 3

lim Sinfq/q=1

qg® 0

X® ¥ (1+4/n) =¢

T/IF
T/F
TIF
T/F

T/F

T/F
T/F
T/F
T/F
T/F
T/F
T/F
T/F
TIF
T/F
T/F
T/F

T/F

T/F
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Choose and encircle the best possible answers:

Let P(X) = aX" + @1 X"+ 80 X™2

+a, X + agwherea, aE R is called:

a) Rational b) Irrational

¢) Palynomial d) None of these

Therange of f(x) = x*is:

a) Setof al Natural Nos. b) Set of all non-negative Real Nos.

c) Setof al Real Nos. d) None of these

A function A : X ® Y defined by A(u) = ais called function:

a) Identity function b) Constant function

¢) Inversefunction d) None of these

If x=2a'theny =

a) logx b) logax

c) loga d) None of these

Coth™ is defined as:

a) In (x+\x?+1) b) Y In(x+1/x-1)

b) In(x+Vx*1) d) In (U/x +V1-x?/x

If f(x) =f (-x) then it is called:

a) Odd function b) Even function

¢) Implicit function d) Explicit function

Cosh’x + Sinh’x =

a) Sinh’x b) Cosh’x

c 1 d) None of these

It (3x+4/x+3)is

X® 2

a 10 b) 2

c 5 d) 1

If p(x) = aX"+ an X" ... aiX + & isa continuous function of degree n, then Lt P(x) =
X® c

a & b) a'

Cc) Zeo d) P(C)

If f(x) = 2x + 1 & g(x) = x* + 2x —1 then (f-g)(x) is given by

a x°+2 b) xX?—2

0 X*+2 d) X2—-2

If h(x) = x+2 and j(x) = 4-x*, then (hj) (x) is given by:

a xX°+6 b) x*-6

0 X*+6 d) -6

If g(x) = x3-xitis:

a) Odd function b) Even function

¢) Neither even or odd d) None of them

If a point (a,b) lies on the graph of the function which of the following point must lie on the

graph of inverseof f.:

a) (ab) b) (-ab)

) (a-b) d) (ba)

Lt Sin px/gx =

x® 0

a) 1 b) d/p

C) p/q d) Not defined
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If f(x) = xOx?4, then domain of f(X) is:

10

a) R b) R-{0}

C) R-[2,-2] d) R—{4}

If f(x) = 2 for all real Nos,, thenf (x+2) =

a o0 b) 2

c) 4 d) X

Lt (1+3x)"* =

x® 0

a 3 b) 3e

C) ¥ d) e
Therdation X’y + xy*-3=0is:

a) quadratic function b) Explicit function
) Implict function d) None of these
If A={1,2} & B={ab} and R, is{(1,a), (2b)} then R, "is
a) {(a1),(b,2)} b) {(a1),(2b)}
0) {(1,8),(2,0)} d) {(1.8),(b,2)}
Lt a-Ut=

x® 0

a) e b) ¥

C) Ina d) logiea

Lt e”-ve™+1=

X® ¥

a 2 b) 0

c % d) Not defined
Lt 5x*-3/7x>-1=

X® ¥

a 1 b) Undefined

c O d) ¥ /¥

Match theitems in the column A with column B and write the correct answer in column C:
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ANSWERS

[tem-1: Fill in the blanks:
1: Leibniz 2: Radius of sphere (radius) 34 4 Linear 5 {-1£Ex£1}
6:e  7:Implicit 8: Odd 9: 125 10:1 11:x=-1
12: Function  13: Zero 14: Even 15: Odd 16: %2 In (1+x) [x|<|
17: Ellipse 18: x 19:Lim h(x) =L 20: Zero 2:1l );(a)

X® ¢
22: Zero 23:x3 0 24: Range of f 257
Iltem-2: Encirclethe correct answers:

L 2F 3F 4T ST 6T 7F 8T 9F 10T 11:F 12T
13:F 14F 15T 16F 17:F 18 F 19T 20:T 21:T 222T 23 F 24F
25: T

Item-3: M.C.Qs:

l.c 2c¢c 3b 4b 5b 6b 7:¢c 8c 9d 10.c 1l:a

122a 13:d 14:c 15c 16:b 17:c 18:c 19:a 20:c 2L:b 22:c

Item-4: Match the items in the column A with column B and write the correct answer in
column C

aiv b cii dii ev f:vi gwvi hx irix i
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CHAPTER-2 (Differentiation)

Fill in the blanks:

Inthe expressionf () =0°+ 1/ 0, 0 is.............. variable.

Iflim f(x+ dx)—f(x) existsthenf(x) issaidtobe................
dx® 0 dx

The derivative of VX iS .................

The Leibnitz symbol for the derivative of y w.rt. Xis................
If x=t*andy =1+t thendy/dXis...............

........... is the derivative of sin? 2x.

The derivative of 22™ s ....c..cvvvven....

If y =tan™ 2x thendy/dXx = .....................

d/dx [cOS h (3X)] IS vvevernnn.

The second derivative of €S ........covvueeenn....

f (x) = f (0) + xf*(0) + x*f*(0) + x> f*(0) + ........... isknownas...............
2! 3!

eM=g{1+h+h+h*+ . ............ Jiscalled ........... series expansion of €.
2 3

f(x) = Ux?isanon................ function on [1, 10].

y=sinxisanon............. function on [0, p/2].

The maximum value of 2 cosx ontheinterval [-p, p]. iS ..cevvneen.e

f(x)=x>+2x—4isanon................. function on [-1, 4].

The second derivative of y = - €oS (X/2) IS ......ocvvvvrvnenne

If f(c) >0 thenf hasa........... ac.

A stationary pointisalsocaleda.............. if it is ether a maximum or a minimum point.

fisdecreasingon] ab[,if f(X)is............. foreachx e] ab].

Theslopeof y = x*+SiNX, iS............. atx=0.

d [Yg(X)] = ceeeeiieenn.

dx

If uand v are two functions of x then d/dx (u/v) = (v.u¢—uvd/Viscalled ...........
The derivative of [f(X)]" W.r.t. XiS.......coevivnnnnen.
If x*+y*=9thendy/dx =.............
dy/dx =dy/du.du/dx isknownas................ rule.
The derivative of Sin X w.r.t. cOSXiS.................
.................. is the derivative of Ine”.
d/dx (SNO+X)iS..coevvvnnnnn.
1 isthederivativeof ....................oe. ..
V1+x2

Encircle the correct answers:

Wheny = f(x), y is called the independent variable. TIF
If lim S (t + dt) — S(t) exists, is called the instantaneous rate of change of distance
dt® 0 at TIF
with respect to “t”.

The notation f&x) for derivative of y = f(x) was introduced by Newton. TIF
The derivative of y = sinp w.r.t. X is cosp. TIF
The equation of tangent line of thecurvey = x*+ 1atx = 1isy = 2x. TIF

d/dx (1/x) = 1 TIF



d/dx (c.f(x)) = c. f €x). TIF
didx [(x+a)/(x-a)] = 1/(x-a)> T/IF
d [Vg(x)] = -g&x) is known as reciprocal law. TIF
dx [9(:)]°

The derivative of (Vx+2) (Vx-2) is 1. TIF
If x=sint/2,y = cos t/2 then dy/dx = tan t/2. TIF
The derivativeof Insinx w.r.t. x istan x. TIF
If x = 2at and y = at” then dy/dx = x/2a. TIF
If Xy = 3 then dy/dx = x/y. TIF

For finding the derivatives of trigonometric functions f(x), x must bein degrees. T/F

14

The derivative of tan x° is sec’. TIF
d/db (cos™ 20) = 1/1-467 TIF
d/dx [loga] = Ina/x T/F
Thetenth derivative of €’ w.r.t. is€'. TIF
Thefourth derivative of cosx issin x. TIF
A series of the form ag + aiX + aX? + aX° + vvvvvvnnnnn. Fax"+ is called a power
series expansion. TIF
Maclaurin's series expansion of sin X is, X —x3/3! + x5! = X7V + ......cc....... TIF
Maclaurin's series expansion of cosx is1 - x72! - x¥4! - x%6! - x%8! - ............ TIF
Thereis no tangent lineto the graph of y = ¥x%2at x = 0. TIF
When f x) <O for each x e] ab [ then f(x) isincreasing. TIF
Relative maxima.is not necessarily the highest point of the graph. TIF
f&x) is positive at the point x = c wheref has relative maxima. TIF
If f(X) = cos x then f@(p/2) = 1. T/IF
Theincrement in x should always be positive. T/IF
d/dx (coth™) = 1/(1+x?) T/F

Choose and encircle the best possible answers:

A function f(x) has aminimum value at x = aif:

a f&a=0 , f¢@=0 b)
c) f&a)<0 , f¢@=0 d)
If y = f(x) then dy/dx is:

foa)>0
fe@=0 |,

fe@=0
fe@=0

a) Slope of normal line b) Slope of x-axis ¢) Slope of y-axis d) Slope of tangent line

The derivative of cos (ax/c) is:
a) -alcsin(ax/c)

d/dx [sinp/2] =:

SEC X
a Sinx b) Cosx ¢©)
If f ) =0at x =cthenf(c)is:
a) Maximumatx =C b)
c) Stationary point d)
d/dx [Sinx CosX] is:
a) Sin’x b) Cos2x )

The derivative of x> +y* = 9is:

a -xly Db 2X+2y=0 C)

If x =acos’q, y = b sin®q then dy/dx is:
a) bla b) alb C) -b/a
The derivative of Sinx° w.r.t. to x:

a Cosx’ b) x%°Cosx’ 0)

b) a/csin(ax/c) c¢) l/csin(ax/c)

d) -Ycsin (ax/c)

-Sinx d) -Cos x
minimumat x = C

Insufficient in formation

Cos” x d) Sin2 x/2

y/ix  d) yIX?

d) b cosq/asing

p/180Sinx°  d) p/180 Cos x°
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If y = x’ + x® + x° then D¥(y) =:

a 7 b) "X © 7! + 6! d) 0

d/dx [cos C. Sin 457 =:

a o0 b) SinC.Sin45° ¢ -SInC.Sin45° d) CosC.Cos45°
didx [x] is:

a) X% [1+Inx] b) x*?[1+Inx] ¢ x®'[1+Inx]  d) x*'[1+2InX]
d/dx (a™):
a 0 b) (btc) &t o) ba™®  d) (b+c) @ Ina

y = Cos (bx + ¢) then d/dx” Cos (bx+c):

a Cos(bx+c) b) Sin(bx+c)c) b*Cos(bx +c) d) b*Sin(bx +c)
If y* = X then dy/dx is:

a) (312 () b @3 () o (23)(Xly) d) (3/2) (xly)
dYdx*(x® + 12) is:

a) 8.7.6x° b) 8x" ¢ (8! / 4) x* d) 8.7.6.5.4.x°
d/dx [Cos ax + Cos bx + Cos cx]:

a) (atb+c) Sinx b) -(atb+c) Sinx

c) aSinax+bSinbx+cSncx d) -(@Sinax+ b Sinbx +c Sincx)
d/dx (cos™x) =:

a) 1/v2(1-x) b) 1/vV2x ¢  1/x(1-x) d) -1/~2x(1-x)
d/dx [Sin h* (ax + b)]:

a) 1/+1-(ax+b)® b) a/ V1+(ax+h)?
c) alV1+(ax+h) d) at+h / V1-(ax+b)?
didx (Inf(x)) =:

a) f&x)/f(x) b) f(x) / f ¢(x)

o) -f&x)/f(x) d) -f(x) / f €x)
L2334 is an expansion of:

a Sinx b & 0) Tanx d) €&
1221+t 41-t%6!+.. ... is an expansion of:

a Cost b) Sint o é d) Cost

The minima of thefunctiony = x* —x on [0,1] is:

8 -U4 b)) U2 o U4 d @ -12

Cos h™x can also bewritten as:_ L L
a) 1/V1+x b) 1/vV1-x* ©) In(x+\x*1) d) In(x+\x*+1)
The equation of tangent lineto the curve x* + y* = ¢* at (a,b):

a) x/a=ylb b) ax+by=C? c) bx+tay=C d) ax+by=C
didx (Sinx) ™

a) 1/+1-x b) -(Sinx)? c¢) - Cosecx cot X d) Cosec x cot x
dldx (3%7) =:

a) 3*7(In3) b) 3**7/In3 o 3¥n3 d  3*F(n3)
1—x+x2/20-x3 /3 +x* A+ is an expansion of:

a € b) Sinx c) Cosx d €F

Value of d’/dx* (-Cos x) at x = p/4is:

a 1/\2 b)) -1N2 ¢ 12 d -1/2

Two numbers such that their difference is 50 and product is minimum are:
a) 50,0 b) 0,-50 ¢ 25,-25 d) 25,25



Item-4: Match the items in the column A with column B and write the correct answer in column C:

COLUMN-A COLUMN-B COLUMN-C
a) d/dx (c) i) 6
b)y=sinxon|0, p/2] i) 2
0 y=1xon[-5,-3] i) 1
d) didx (x)”° at x =8 iv) Decreasing
€) Maxima of v)-Y4

y =4 cosx on[-p,p]

f) Third derivativeof X’ ~5 | i) 15

g) Slope of thetangent line of | vii) Increasing
y=x+latx=1

h) d/dx (sin (cos x)) at x = p/2 | viii) 4

i) didx (1+x) at x =1 iX) Zero
J) Third derivative of x) 1/3
XY12— X716 + x/2+ 7

Xi) 5

xii) =1

ANSWERS

ltem-1: Fill in the blanks:
1: Independent 2: Differentiable 3 -1/2x% 4: dy/dx 5: 2/3t
6: 4 sin 2x cos 2x 7: 2™ sec’x.In2 8: 2/(1+ 4x%)  9: 3 sinh3x
10: 4e* 11:Maclaurin's series  12: Taylor series 13: Increasing
14: Decreasing 15: 2 16: Decreasing 17: Yacos x/2
18: RelativeMinima  19: Turning point 20: Lessthan zero
21:1 22: -[g(X)]? g(x)¢ 23: Quotient rule 24: n[f()] " (x)¢
25: -x%y? 26: Chain rule 27: -cotx 28:2 29:1 30:sinh™x
ltem-2: Encircle the correct answers:
rrT 2T 3F 4F 5T 6F 7T 8&F 9T 10:0T 11:F
122F 13T 14F 15F 16:F 17:F 18F 19T 20:F 2L:T 22T
23 F 24T 25F 26:T 27:F 28:F 29F 30:F
Item-3: M.C.Qs:
I'b 2d 3a 4c 5c¢c 6b 7a 8c 9d 100d 11:a

122d 13:a 14:c 15b 16:c 17:d 18d 19:b 20:a 21:d 22:d
23:a 24:¢c 25b 26:c 27:d 28.d 29a 30:.c

tem-4: Match the items in the column A with column B and write the correct answer in column C:
aix b:vii civ dix eviii fii gl hixii irv jivi
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CHAPTER-3 (Integr ation)

Fill inthe blanks:

Theinverse process of differentiationiscalled...............

Indy =fX) dX, ...ooevnnn... is called the differential coefficient.
Thedifferential of x isdenoted by ...........

If f €x) =f(x), then............. is called an integral of f(x).

x? + X + cistheindefiniteintegral of ................

Inof(x)dx; f(x)iscaled.................

In & f(x) dx the upper limitis.............

In & f(x)dx, the............. Limitisa

In 0 f(t)dt, theintegral will beafunctionof .............

.............. are used to find the area under the curves.

The area above the x-axis and under the curvey = f(x) fromatobis........
Areaunder the curvey = sin x and above x-axis, fromOtopis..............
If oJf(x)dx = 5 and ;& f(x)dx = 3, then o F(X)AX = ....oovvvnnnnnnnnn...

Areaunder theliney = x and abovethe x-axisfromOtolis...............

Differential equations contain at least ................. derivative of a dependent variable.

The order of differential equation isthe order of the.............. in the equation.

The order of differential equation x d?y/dx® + dy/ dx —2x = 0is..............

The............ solution of a differential equation represents a family of curves.

The general solution of differential equation of order n contains .......... arbitrary constants.

n arbitrary ......... in the solution of a differential equation can be determined by n initial
conditions.

The solution obtained by giving a particular value to arbitrary constant in general solution is
................. of the differential equation.

The highest order derivative in the differential equation is the ........... of the differential
equation.
Thetermf ¢(x) dx iscalled......... of the dependent variabley.
OE/1+E AX = v,
Theinterval [a,b] iscalledthe................ of integrationin & f(x) dx
Encircle the correct answers:
dax+b) dx = (ax + b)™* where nez TIF
n+ 1
didx {d(x)dx} =f(x) +c TIF
od/dx {f(x) } dx =f(x) +c. TIF
The general solution of differential equation in variable separable form contains two
independent variables. TIF
The order of adifferential equation is the order of the highest derivative in the equation. T/F
Area bounded by the curve x = f(y) and x-axisis S f(x)dx a£ x £ b. TIF
A=Area of the Shaded region TIF
yafred
—
= @ ()0 () 7 F
Lf(x) dx = Bf(x) dx TIF
dy = dy TIF

y = ce*is solution of differential equation dy/dx = -y. TIF



11.
12.
13.
14.

15.
16.
17.
18.
19.
20.

Of(x) dx has a definite value.
Area under the curve is always taken positive.

If f(x) is even function then .G (fx)dx = 2 & f(x) dx.

The degree of differential equation xd/dx® + (dy/dx)*+ 1=0is2.

fix) dx = fix) dx
gix)

)

1 dx
Bix)

qf(x)]" f&x) dx = [f(x)]"Y/n1+C where nis any integer.
Theintegral of product of two functions is the product of their integrals.

0a* dx = d* / at ¢ (a>1)

d(e™) = aeg™

Volume of cube with length of asidex is x°.

J

_dx

ax +b

=In lax + b|+¢

[

T/F
T/IF
T/IF
T/F

T/IF
T/IF
T/IF
T/IF
T/IF
T/IF

T/IF

18

The arbitary constants involved in the solution of differential equation can be determined by

initial values conditions.
osecxdx =In|secx —tanx|+C

ocot (ax+b)dx = L/alnjsin (ax+b)| + C
08 X dX = Ya
If Sisthe distance then dS/dt represents accel eration of the particle.
olnx dx = 1/x + C.

0 tan x dx cannot be evaluated.
02x e€?dx =%/ ,+C

o dx/x Inx = In x| + C
x- Inx? + k is the result of integrating (x-2)/, W.r.t. X.

Choose and encircle the best possible answers:

f(x) = x*, when x =2 and dx = 0.01. Which oneiis true?

a) dy =0.0001

b) dy=0.001 c) dy=.02

Which oneis correct?
a) 0Cosec’ dx = -Cotx + C

c) 0Cosec’ dx = Cotx + Cd)

a)

Inx|+C b
If | = 0 (5x+8)/(x>-5x+6) dx, choose the correct partial fractions of (5x+8)/(x*-5x+6)
a) (Ax+B)/ (x*-5x+6)

b) asecq

Injx |+ C

c) A/(x+2) + B/(x+3)
Which oneis not the anti derivative of xVx*+1?
a) 13(*+1)¥+C
o) U3+ ¥+C
Choose the correct response to 0€* (1/x + Inx) dx:
a € ((WUx)+C
Which one is the area of lined portion showing one arch of sine curve?

1

.

b)

it

-

b) €lnx +C

2

o] %y X

<)

b)

d) dy=2.01

0Sec’ dx =tan’x + C

0Sec’ dx = -tanx + C

If an integrand involves \x?-a%, which oneis the suitable substitution?
a) x=asing
Which oneis the anti derivative of 1/x?
¢) -Ux*+C d) Noneof these

c) x=atanq

d x-a=asing

b) Al(x-3) + B/(x-2)
d) None of these

b) /3 (x*+1)¥?

d) 13 (*+1)° + C

C)

g (1+Inx/x) + Cc) €lnx/x + C

T/IF
T/IF
T/IF
T/IF
T/IF
T/IF
T/IF
T/F
T/F
T/F



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22

23.

24,

25,

Which one is the area bounded by the x-axis and graph of sine curve from -p to p?

a 0 b) 2 C) 4 d) None of these

If .d g(x) dx = 5; 1§ g(x) dx = 4, choose the correct one:

a 0gxX)dx=0 b) L0gx)=9 ¢ LOgx)dx=45 d) Fgx)=1
Which one is the correct value of 0 x° dx?

a 20 b) 24 C) 28 d) None of these

What is the area bounded by the liney =2 and the x-axis from -1 to 1?

a 2 b) 4 C) 0 d) 1

Which one of thefollowing is correct?

a) A differential equation involves at least one term containing derivative.

b) A differential equation involves exactly oneterm containing derivative.

c) A differential equation involves at the most one term containing derivative.

d) None of these.

What is the order of the differential equation d?y/dx*+(dy/dx)*+3 dy/dx = 2x

a One D) Two ©) Three d) Six

What is the degree of the differential equation d?y/dx*+(dy/dx)*+3 dy/dx = 2x

a One D) Two ©) Three d) Six

Give the solution of the differential equation x dy/dx =y + 1:

a xy¢=y+C b) xy=y+C C) y=cx-1 d y=cx+1
Which one of thefollowing is the differential equation of x +y + ¢ =07?

a dy+dx=0 b) dy/dx = x%/2

¢) dy/dx +dx/dy=0 d) X2+ Y2+ cx=0

Choose the differential equation of straight line:

a y=mx+C b) dy/dx=mx+C ¢) dy/dx+mx=C d) dy/dx=m
What is the general solution of the differential equation dy/dx = 3x*?

a y=6x+C b) y=x>+1 0) y=x>+C d y=6x+1
What is the particular solution of the differential equation x dy/dx + 8 = 2y?

a y=Cx*+4 D) -CX*+4 0) y=x*+4 d y=x*+C
oddx = ?

a) a*lx+1 b) xa™t ¢ a‘lloga d) a'loga
0(l+x)/xdx="?

a) logx+1 b) log (xc) C) logx -1 d) log x + X
oodx = ?

a) -Ux* b) X 0) Constant d) x

O(x+2)/(x+1) dx = ?

a) loge (x+1) b) l0ge (x+1) +1

©) loge (x+1) + x d) loge (x+1) + x>+ C

0 & (sec x + tanx) dx = ?
a) e sec™ b) € sec X 0) € tan’x d) € tan x

19
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Item-4: Match the items in the column A with column B and write the correct answer in column C:
COLUMN-A COLUMN-B COLUMN-C
a) Reverse process of i) Family of curves
differentiation.
b) o(ax+b)" dx i) x*—a
c) 0(ax+h)™, ax +bt 0 iii) Particular value of arbitrary
constant
d) General solution of differential | iv) Z/aln [ax+b| + C
equation.
€) Particular solutions. v) Integration
f) O3t dt vi) (ax+b)”*1/a(n+1) +C
g) 0°f(x) dx vii) f (b)-f (a)
h) o cos x dx viii) x d’y/dx*+dy/dx—2x = 0
i) Differential equation iX) Infinite
j) Arbitrary constants x) 0
ANSWERS
ltem-1: Fill in the blanks:
1: Integration or anti-derivation 2: 1 ¢(x) 3dx 4:f(x) S 2x+1
6: Integrand 7:b 8: Lower 9: x 10: Definite integrals
11: & f(x) dx 12: 2 13: 8 14: V2 15: One
16: Highest derivative 17: 2 18: Generd 19:n
20: Constants 21: Particular solution 22: Order 23: Differential
24: In|1+€| + C 25: Range
ltem-2: Encircle the correct answers:
1. F 2:F 3T 4. F 5T 6: F 7 F 8 F oT 10: T 11 F
122T 13T 14F 15F 16:F 17T 18 F 199F 20:T 21:F 2270
23: T 24F 25F 26:F 27T 28F 29:F 30:T
Item-3: M.C.Qs:
1. a 2:a 3b 4:a 50b 6. c 7b 8Db 9c 10:b 11:a
122b 13:a 14b 15 a 16:c 17:a 18d 19:c 20:¢c 21:c 22:d
23:c 24:¢c 25 b
Item-4: Match the items in the columns:
aW) bi(v) c(vi) d @) e((i) f:(@i) g (vii) h:(x) i:(viii) j:(ix)
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CHAPTER-4 (Introduction to Analytic Geometry)

Fill inthe blanks:

X-coordinateis the directed distancefrom ................
Y-coordinateis the directed distancefrom ................

All points (x,y) withx >0,y >0liein............ quadrant.
All points (x,y) withx <0,y >0liein ......... quadrant.
All points (x,y) withx <0,y <Oliein ......... quadrant.
All points (x,y) withx >0,y <Oliein ......... quadrant.

Distance between two points A (X3,y1) and B (X2,y2) isgivenby 6ABO = ................
If the directed distances AP and PB have opposite signs then P is said to divide AB

If P (x,y) isthe mid point of AB with end points A (X3,y1) and B (X5,y2) then X =
............... VY T

Bisectors of angles of a triangle are ................ and point of concurrency has co-
ordinates (.........ceeenee . )

Point-slope form of the equation of a straight lineis.................

Slope of alinejoining two points A (X1,Y1), B (X2,¥2) IS ...cvvvneenn.

a) Slopeof X-aXiSiS .................

b) Slopeof y-axiSis.................

Equation of aline with x-intercept ‘a’ andy intercept ‘b’ is...............

A linear equation in two variablesx andy is.................

Slope of general equationax + by +c=0ism=................
Theequationx cosa +ysina =prepresentS................. of astraight line.

Two non-paralld linesintersect eachotherat ......................... .. point.

The necessary and sufficient condition of concurrency of the given three lines a;x+b;y+c;=0,
apx+thyy+c,=0 and agx+bzy+c;=01iS...................

Altitudes of atriangleare......................

Distance‘d fromthe point P (x;,y1) tothelineax + by + c=0isd=................
Area of triangle whose vertices are P (X4,y1), Q (X2,¥2) and R (X3,y3) isD=..........

A quadrilateral having two paralle and two non-parallel sidesiscalled ................
If points P (X1,Y1), Q (X2,¥2) and R (X3,y3) arecollinear then areai.e D= ..........
Thelineslying onthesameplanearecaled .............. lines.

Angle between the two lines |, and |, having slopes my, m, respectively is tanq =
When two lines |; and |, having slopes my, m; respectively are paralle then ..........
If two lines |y, |, having slope my, m, respectively are perpendicular then ...............
An equation f (x,y) = 0 is said to be homogeneous of degreenif f (kx, ky) =...........
A general second degree homogeneous equation can bewrittenas .................

Encircle the correct answers:

All points (x,y) withx <0, y <0 liein 1st quadrant. TIF
All points (x,y) withx <0, y >0 liein 2nd quadrant. TIF
All points (x,y) withx >0, y >0 liein 3rd quadrant. T/IF
All points (x,y) with x >0, y <0 liein 4th quadrant. TIF

The point P is said to divide the line segment AB inratio k; : ks internally according as P is
beyond AB. TIF



18.
19.
20.
21.

22
23.

24,
25,

26.

27.

If ky:ky; =1:1then P becomesmid point of AB and Co-ordinates of P are
+X)[2,y = (Y1 +Y2)/2 T/IF
If alinel is parallel to x-axis then a = 90°.

If alinel is paralle to y-axis then a = 0°.

Equation of a straight line perpendicular to y-axis at (0,a) isy = a.

Equation of a straight line parallel to y-axis at adistance ‘b’ fromitisy =b.

If a>0intheequation of y = athenthelinel is below x-axis.

If @=0 in equation y=a, then line | becomes x-axis and the equation of x-axis
=0. TIF

If alineintersects x-axis at (a,0) then ais called y-intercept of the line.

If alinel intersects y-axis at (0,b) then ‘b’ is called x-intercept of the line.
Equation of a straight line with slope m and y-intercept cisy = mx + c.
X-XJ/cosa = y—yi/sina =r issymmetric form of equation of a straight line.
Threelines ayx+byy+c = 0, axx+byy+c, = 0 and agx+bzy+c; = 0 are concurrent if
a b
&b c
3 b3 Cs
The medians of atriangle are concurrent.

The centroid of a D ABC is a point which divides each median in theratio 2:1.
Thepoint P (X, y1) isabovethelineax + by + c=0if ax; + by, + ¢ <O0.
Equation of a non-vertical straight line passing through two points P (X1, V1),
Y2) IS (y-y1) (X2-X1) = (X-X1) (y2-y)- T/F

o

22

X = (X1

TIF
TIF
TIF
TIF
TIF
is

T/F
TIF
T/IF
T/F
T/IF

T/IF
T/F
T/F

The distance d from a point (x3,y1) to theline l:ax+by+c=0 is d =V(Xo-X1)+(y2-y1)* T/F

If the points P (X1,y1), Q (X2,¥2) and R (X3,y3) are collinear then
X1Y1 1
X2 Y2 1
X3Y3 1
Area of trapezoidal region = ¥z (sum of // sides) (distance between // sides).

D=1/2

T/F

T/F

Area of atriangular region whose vertices are P (X1,y1), Q (X2,y2) and R (X3,ys) is T/F

xyl
D= lell
X2 Y2

A linear equation ax + by + ¢ = 0intwo variables x and y has its matrix form

[ab] [xy] =0

T/F

Q (x,

The general equation ax + by + ¢ = 0 is called homogeneous equation of the second degreein

two variables x,y. T/F
If the matrix T3, by c; | issingular then the lines are concurrent.

&b, c

& bs c3

T/IF

A pair of lines represented by homogeneous second degree equation ax®+2hxy+by?=0 will be

imaginary if h* > ab. TIF
A pair of lines represented by ax®+2hxy+by’=0 will be orthogonal if a+ b = 0.

Choose and encircle the best possible answers:

Equation of straight line with slope m and passing through (x4,y1) is:

a) Y-y1=X-Xp b) yi=mx;+c

C) xMXi+yly1=1 d) Y-Y1= M(X-X1)

Equation of aline passing through (X1,Y1), (X2,Y>) is:

a) (y-yn) (XaX)) = (Y1) (X-X)) D) (Y-y2) (¥2-y1) = (X-X2) (X2-X1)
C) Y-y1=X-X d) Y-y2= (X-X2)

TIF



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22

23.

24,

23

Equation of x-axisis:

a x=0 b) y=0 ¢ xy=0 d) x=1
If alinel is paralldl to y-axis then inclination a =:

a 0° b) 90° o 45°  d) 80°

If slope of AB = Slope of BC then the points A, B and C are:

a) Callinear b) Coincident c¢) Non-collinear d) verticesof triangle
Equation of a st. line having x-intercept “a” and y-intercept “b” is:

a) x/a-yb=1 b) x/la+y/lb=0

c) x/la+ylb=1 d) alx+bly=1

Equation of the line passing through (8,-3) having slope 0 is:

a x=8 b) y+3=0 ¢ y=3 d) x-3=0

Theequationx cosa +y sina = pisintheform:

a) Slope-intercept b)  Symmetric c) Intercept d) Perpendicular
A genera equation of astraight lineis of degree:

a) Zero b) Two ¢©) One d) Three

If my and m;, are the slopes of two lines |, and |, then the angle q between themis:

a) tan q = my-my/1+mym, b) tan q = mytmy/1+mym,

C) tan q = my-my/1-mym, d) tan q = mytmy/1-mym,

Slopeof alineax + by +c=0is:

a) alb b) b/a C) -ab d) c/a

Thepoint dividing A (-6,3) and B (5,-2) intheratio 2:3 internally has coordinates:

a) (3/5,0) b) (-28,13) C) (-1/5, 1/5) d) (-8/5,1)
Distance between the two parallel lines2x +y + 2=0and 6x + 3y 8=0is:

a) 2 b) 14/3\5 0) 14/N3 d) 8//45

Twolinely: agx + byy + ¢, =0and I, : ax + byy + ¢, = 0 are perpendicular if:
a) e + b]_bz =0 b) a]_bz + agb]_ =0

C) a]_b]_ + agbz =0 d) a]_bz - agb]_ =0

Two st. linesayx + byy + ¢, =0, ax + by + ¢, = O are paralld if:

a) a]_/ b]_ = a;g/ b]_ b) a]_/ = b]_/ b2

C) i = bbb, d) ay/c; = alc,

Distance of points (0,4) fromthelinex +y+4=0is:

a) 4 b) 8 0) M2 d) 42

Determine whether the point (-7,6) is above, below or lieontheline3x —5y + 8 =0:

a Bdow b) Above c¢) Ontheline d) None of them

Distance between the two given points A(3,1), B(-2,-4) is:

a) 5v2 b) \58 ¢ V2 d) V10

If the points P (x1,y1), Q(X2,Y2) and R(X3,y3) are collinear then the area of the triangular region
must be;

a) Zero b) Unity ¢) Positive d) Negative

Two non-parallel and coplanar lines ayx + by + ¢; = 0, apx + byy + ¢; = O intersect only if:
a) A - b]_b2: 0 b) A - b]_b2: 1

C) a]_bz - agbll 0 d) a1 - b]_bzl 1

An equation ax® + 2hxy + by” = 0 represents two real and distinct straight lines if:

a) h*> ab b) h* < ab C) h* =ab d) h=0

An equation ax” + 2hxy + by” = 0 represents two real and coincident lines if:

a) h*<ab  b) h"=ab ¢ h’>ab d) Noneof them

An equation ax® + 2hxy + by” = 0 represents two imaginary lines if:

a) h*> ab b) WP=ab ¢ h<ab d a=0

Two lines represented by ax” + 2hxy + by? will be orthogonal if:

a a+b=0 b) a=b c) a=0 d) b=0



25.  Theacute angle between the lines represented by x> —xy —6y* = 0 is:

a) 30°

a) y=5x+2

b) 60° 0o 75°
26. An equation of st. line with sSlope 2 and y-intercept 5 is:
c) y=2x

b) y-2x=5

27. Two lines5x + 7y = 35 & 3x — 7y = 21 intersect at:

a) 0,7)

b) (7,1) ©c© (2,5)

28. Thepoint (-4,7) liesin:

a) 1% quadrant

b) 2™ quadrant

¢) 3“quadrant

45°
d y=2+5
(7,0)

d) 4" quadrant

29. Radius of the circle with A(-5,-2) and B (5,-4) as end points of diameter is:

a) (1/2)\26

b 92 ¢

256 d)

\26

30. Centroid of thetriangle whose vertices are A (3,-5), B(-7,4) and C(10,-2) is:

a) (5,-3/2)

b) (2-1) o

(-21) d

Item-4: Match the items in the column A with column B and write the correct answer in column C:

(3/2,-3/4)

COLUMN-A

COLUMN-B

COLUMN-C

a) Slope of a straight line with
inclination a:

)0

b) For a nonzero real k, the
equation |,+kl,=0 represents a:

ii) Normal form

¢) General equation of straight
line:

iii) JA|* 0

d) The equation
X-xs/cosa =y-ys/sina =r
represents a straight line:

iv) g = tan™ (me—my/1+ my.my)

€) A general second degree
homogeneous equation:

v)ax+by+c=0

f) The equation
xcosa+ysna=p
represents a straight line:

vi) i2 > ab

g) If the point P(x3,y1) lieson|
then the distanced =:

vii) ax® + 2hxy + by’ =0

h) A system of linear
equations has a solution iff:

viii) Family of st. lines.

i) A pair of lines represented
by ax? + 2hxy + by” = 0 are
real and distinct:

iX) Symmetric form

j) Giventwo lines|y,l,,angleq
between them:

X) m=tana

Xi) Intercept form

xii) 1
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ANSWERS
[tem-1: Fill in the blanks:
1: Y-axis 2: X-axis 3: First 4: 2" 5: 3¢ 6: 4"
7: V(X X1) 4 (y2-y1)* 8: Externally 9: (X1+X2)/2,(Y1+Y2)/2

10: Concurrent, (ax; + bx,+ cxs/a+b+c, ay;+ by, + cys/ a+ b +c).

11: y-y1 = m(X-Xq) 12: yo-yi/Xo-X1 13: @). 0 b). Undefined 14: x/a+y/b=1
15: ax+by+c=0 16: -alb 17: Normal form 18: oneand only one
19]a; b, ¢ 20: Concurrent 21: laxy+bys+c| / Va®+h?

22 b2 c|l =0

3 bs Cs
22.  |X1y1 23 Trapezium 24. Zero 25: Coplanar

Y X2 Y2 1

X3Y3 1

26: My-my/1+mmy, 27-m=m, 28 mymy=-1 29:kY(xy)  30: ax’*+2hxy+by*=0

ltem-2: Encircle the correct answers:

1. F 2:T 3 F 4:T 5 F 6: T 7 F 8 F oT 10: F 11:F 122 T
13:F 14 F 15T 16T 17:F 18T 19T 20:F 21:T 222F 23:T 24T
25:F 26:F 27:F 28T 299F 30:T

Item-3: M.C.Qs:

1:d 2:a 3b 4: b 5 a 6. c 7b 8:d 9c 10:a 11:c¢ 12:d
13:b 14:a 15 b 16:c 17:a 18 a 199a 20:c 2l:a 222b 23:c 24 a
25:d 26:b 27:d 28:b 299a 30:b

Item-4: Match the items in the column A with column B and write the correct answer in column
C:

1: x 2:viii 3iv 4:ix  5vii 6l 7 8iii 9vi 10:iv
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CHAPTER-5 (Linear I nequalities and Linear Programming)

Fill in the blanks:
A vertical linedivides the planeinto .......... and............ half planes.
A non vertical line divides the planeinto ........ and........... half planes.

Inlinear inequality, thelinear Eq. Ax + by =ciscdled ............

A test point is chosen which determines that the half planeisonwhich sideof the...............
If 2x -3>1, thenx isgreater than ....................

The solution set (x,y) for theinequalitiesin feasibleregionisaways ..............

A point of a solution region where two of its boundary line, intersect, iscalled..............

The system of linear inequalitiesinvolved in the problem concerned arecalled..................
Each point of thefeasibleregioniscalleda........... of the system of linear inequalities.

A function which isto be maximized or minimized iscaledan ..............

If the line segment obtained by joining any two points of a region lies entirely within the
region, then theregioniscaled...............

The feasible solution which maximizes or minimizes the objective function is called the
The maximum and minimum values of the objective function occur at ................ of the
feasibleregion.

The graph of thelinear equationisa...............

Thepoint (0,0) doesnat ............. the inequality.

Encircle the correct answers:

The order (or sense) of an inequality is changed by multiplying its each side by a negative

constant. T/F

The order (or sense) of an inequality is changed by adding a constant toitseach side.  T/F

A solution of alinear inequality in x and y is an order pair which does not satisfy the inequality.
T/IF

A vertical line divides the plane into upper and lower half planes. T/IF

The order pairs (x,y) satisfying theinequalities ax + by < ¢, ax + by > c are called half planes. T/F

There are finite many ordered pairs that satisfy the inequality ax + by < ¢, so its graph will be a

half plane. T/IF
The graphs of ax + by < c are closed half planes. T/IF
The graphs of ax + by < c or ax + by 3 c are open half plane. T/IF

The graph of the inequality 2x > -3 isthe open half planeto the left of theline2x =-3.  T/F
The graph of y < 2 consists of the boundary line and the open half plane below theliney = 2. T/F
The variables used in the system of linear inequalities relating to the problems of every day life

are non-negative and are called non-negative constraints. T/IF

The non-negative constraints play an important role for making decision. So these variables are
called decision variables. T/F
The region restricted to the first quadrant, is referred as a feasible region for the set of given
constraints. T/F

Any point of the feasible region of the system of the linear inequalitiesis called corner point. T/F
The point (4,1) isacorner point of the linear inequalities x-y < 3, x+2y < 6. T/IF

Choose and encircle the best possible answers:

Let a,b,c al positive real number such that a < b then:

a ac>hc b) ac< bc ) ac=hc
If 3x -2 <4 then:

a) Xxistheset of al positivereal Nos.

b) xistheset of all negative real Nos.

c) xistheset of al real No. lessthan and equal to 2



27

d) xistheset of al real No. lessthan 2

3. The associated equation of the linear inequality ax + b<cis:
a ax+b3c b) ax+b>c ) ax+b=c d ax+b<c
4, A point of a solution region where two of its boundary lines intersect is called:
a) Optional point b) Boundary point c¢) Corner point
5. A set consisting of all the feasible solution of the system of linear in equalitiesis called a:
a) Feasible solution set b) Feasibleregion c¢) Decisionvariables
6. If X +y = 3 then the solution set contains:
a) Infinite many el ements b) Only one e ement
¢) Finite number of element d) Empty set
7. Thelinear EQ. Y = O represents:

a) Xx-axis b) y-axis  ©) A line parald tox-axis  d) A line paralld to y-axis
8. Thelinear EQ. X = o represents:

a) Xx-axis b) y-axis 0©) A linear parallel tox-axis d) A line parald to y-axis
9. Thelinear Egs. X-3y+1=0 and 2x—6y+7=0:

a) Intersectat“a’ point b) Donotintersect ¢) (2,1) isapoint of intersection
10. If ax + by< cand d > 0 then:

a adx+b/dy>cd b) cdx + bdy > cd

c) adx+b/dy<cd d) adx +b/dy<cd
[ tem-4: Match the items in the column A with column B and write the correct answer in column C:

COLUMN-A COLUMN-B COLUMN-C
aax+hy=c i) Open half plane
b) Non vertical line ii) First quadrant
C)ax +by<c iii) Non-negative constraints
dax+by<c iv) Left and Right half planes
€) Corner point v) Associated Eq
f) Feasible Region vi) Ordered pairs in feasible region
g) Optional solution vii) Closed half plane
h) Decision variables viii) Intersection of boundary lines
i) Vertical line iX) Maximum or minimum
j) Feasible solution X) Upper and Lower half plane
ANSWERS

[tem-1: Fill in the blanks:
1: Leftand Right 2: Upper and Lower  3: Corresponding equation  4: Boundary line
5:x>3/2 6:x30 7: Corner point or vertex  8: Problem constraints
9: Feasible solution  10: Objective 11: Convex 12: Optimal solution  13: Corner point

14: Straight line  15: Satisfy

ltem-2: Encircle the correct answers:
1. T 2:F 3 F 4. F 5T 6: F 7 F 8 F O F 10: T 11:T 122 T
13: T 14 F 15T

Item-3: M.C.Qs:
1: b 2:.d 3c 4:c 5 a 6: a 7 a 8Db 9b 10: c

Item-4: Match theitems in the column A with column B and write the correct answer in column C:
av bx ci d:vii e wviii frii g ix hiiii Qv jivi
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CHAPTER-6 (Conic Section)

Fill inthe blanks:

(x-h)? + (y-k)? = r* is an equation of circle with center ............. andradius .........

x? +y? =r?isequation of circlewith center .........................
X2+ y*+ 2gx + 2fy + c = Oisageneral form of anequationof a.................

XX1 + YY1 + g(X+xq) + f(y+y,) + C=0istheequationof ............... tothecircle
Thepoint P(x,yy) lies ........... the cirdleif X, + y,+2gx,+2fy;+C < 0.
Thepoint P(x,yy) lies ............. thecircleif x,° + y,+2gx,+2fy;+C = 0.
Thepoint P(x,yy) lies ........... the cirdleif X, + y,+2gx,+2fy;+C > 0.

Length of tangent to the circle from a point (X4,y1) iS= ..............

A line segment whose end pointslieon acircleiscaleda..........
A of acircleis chord containing the center of the circle.

Length of adiameter of thecirdlex’ + y? =& is.................

Perpendicular dropped from the center of acircleonchord ......... the chord.

The perpendicular bisector of any chord of acircle passesthroughthe............ of acircle

The number eiscalled the......... of the conic.
If e=1, thentheconicisa.............

If e< 1, thentheconicisan..............

If e> 1, thentheconicisa...............

Thelinethrough thefocusand ~r to thedirectix iscaled .......... of the parabola.
Thefocal chord ~r to the axis of the parabolaiscalled ......... of the parabola.
The standard equation of ............. isy? = 4ax.

x’la’ + y/b* = 1isan equation of ............

Equation of major axis of an elipse x/a + y?/b’ = 1is.............

End points of latus rectum in 2™ quadrant to the éllipse x7/& + y?/b* = 1is........
Equation of directrix of an élipsex?/a’ + y/b*=1is..............

Equation of an dlipseif a>bis..............

Equation of an dlipseif a<bis..............

Inan dlipsex?a + y?/b? = 1, &-aC° = ..............

Inan dlipsex’a + y?/b* = 1, &€& = ...........

Equation of an asymptotes, of a hyperbolax¥a® + y/b* = lare.............
Equation of transverse axis of x%/a’ + y/b*=1is ...........

Encircle the correct answers:

x?la’+ y?la® =1 isequation of an ellipse.

Length of adiameter of acirclex” +y* =& is“a’

A line segment whose end points lie on a circle is called diameter of the circle.
An angle of asemi-circleisaright angle.

The point (x1,y1) liesinsidethe circleif x,*+y,*+2gx;+2fy;+c = 0

The equation y = mx + a (1+m?)*? is a tangent to a circle x*+y*+2gx+2fy+c = 0

T/IF
T/IF
T/IF
T/IF
T/F
T/IF
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The line joining the center of a circle to the mid point of a chord is perpendicular to the

chord.

The perpendicular at outer end of aradial segment is tangent to the circle.
If e>1, then conicis parabola.

If e< 1, thenconicisdlipse.

If e= 1, then conic is hyperbola.

In each elipselength of major axis = 2a and length of minor axis = b.
Direct ices of x?/a’ + y?/b*=1, a>b arey = +c/¢’.

Eccentricity of the ellipseise=c/a

There are four types of parabola.

T/IF
T/IF
T/IF
T/IF
T/IF
T/IF
T/IF
T/IF
T/IF



16.

17.
18.
19.
20.
21.
22
23.
24,
25,
26.
27.
28.
29.

30.

10.

11.

12.
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ax*+2hxy+by*+2gx+2fy+c=0 represents a pair of line if: TIF
ahg
hbfl1tO0
gf c
ax*+2hxy+by’+2gx+2fy+c=0 represents an dlipse or acircleif ¥ —ab <0 TIF
ax*+2hxy+by*+2gx+2fy+c=0 represents a parabolaif h* —ab=0 TIF
ax*+2hxy+by*+2gx+2fy+c=0 represents a hyperbola if hi* —ab > 0 TIF
If y = mx + ctouches y* = 4ax thenc t a/m. TIF
If y = mx + ¢ touches x%/a’ + y’/b* = 1 then ¢ = +Qa’m*+b” TIF
If y = mx + ¢ touches nva - y/b” = 1 then ¢ = +Ca’m*+b? TIF
Equation of the tangent to the ellipse x*/al+y/b® =1 at (x1,y1) isx.x/a’+y.y/b=1  TIF
Equation conjugate axis of x7/a’-y/b*=1isy =0 TIF
Equation of the asymptotes of x7/a® —y/b* = 1 arey = + albx TIF
(aCosq, bSinq) liesandlipsex¥a® +yib*=1 TIF
Length of latus rectum of x%a® + y/b” = 1is 2b%/a TIF
Equation of laterarecta of x/a + y°/b’ = 1 arex = + ae TIF
Product of the distances from the foci to any tangent to the hyperbola x%/a® — y/b? = 1 is b?
T/IF
The éllipse and hyperbola are called central conics because each has a center of symmetry.
T/IF

Choose and encircle the best possible answers:

(x-h)? + (y+k)? = r?is equation of circle with center:

a (00 b (-hk) © h-k) d) (hK)

x*+y?-2gx-2fy+c=0 is equation of circle with center:

a (gf) b g-f) o (af) d g-f)

A point P(xy,y,) lies outside the circleif:

a) X12+y12+29x1+2fy1+c=0

b) Xi%+ Yy +20x, + 2fy; +¢>0

C) X12+y12+2gxl+2fy1+c<0

d) None of these

Radius of thecirclex” + y* + 2gx + 2fy + ¢ =0

a g+fP—= b) F +f?— o Of+ff+c d OF+f2-c

If one end of a diameter of 4x* + 4y* + 24x -8y + 15 = 0 circle be (2,3) the co-ordinate of
other end are:

a (11 b 81) o (89 d B9

Centre of thecircle 45x° + 45y” — 60x + 36y + 19=0iis:

a) (-2/3,-2/5) b) (-2/3, 2/5) C) (213, -2/3) d) (0, 2/5)
Thepoint (6,9) lies .......... the circle x* + y* = 100:

a On b) Ouitside C) Inside d) Noneof these

Equation of tangent to the circle x* + y* = 10 at the point whose abscissais 1 is:

a x+3y=10 b) -x+3y=10 ¢ x=3y=10 d) x+3y=10
Which of the following equation is the circle with center at origin and touching to the line
with equ. 3x-7y=29:

a X*+y’=12 b 2%+ 2y°=29 0©) X*+y?’=15 d) x*+y*=10
Length of tangent from (3,4) to the circle 2x*+2y*+3x-4y+7=0 is.

a 25 b) 03] C) 5/2 d) 5

If eccentricity e=1 then conicis:

a) Ellipse b) Circle ¢) Hyperbola d) Parabola

The focus of parabola x*+4ay is:
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14.

15.

16.

17.

18.
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23.

24.
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26.

27.

28.

29.

30.

31.

32.

33.

35.

36.
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The vertex of the parabolay? = 8ax is:

a) (0,0 b (20 o (22 d (02

The directrix of the parabolay® = 8x is:

a x+2=0 b) x-2=0 ) x+4=0 d) x-4=0

The equ. of the parabola with focus (-3,1) & directrix x = 3 is tangent at the vertex of parabola y*
=4axis.

a) (y-1)?’=-12x b) (y*D)?=12x ¢ (y+1)?=-12x d) (y-1)%=12x

Tangent at the vertex of parabolay? = 4ax is:

a y=0 b) x=0 ) X=a d) y=a
Equation of latus-rectum of parabolay?® = 4ax is:

a y=a b) y=-a ) X=-a d) X=a
Axis of parabola (x-h)* = 4a(y-K) is:

a y=k b) x=h ) x=-h d) y =-X
If eccentricity e < 1 then conicis:

a) Circle b) Parabola ) Hyperbola d) Ellipse
Standard form of an equ. of elipseis:

a) xJa+yib’=1 b) xila’ - yb* =1

o) XIP+yial=1 d) X +al=r?

Eccentricity of ellipsex¥/a® + y/b* = 1is:

a) e=cla b) e=alc C) e=-alc d) -cla
Foci of an lipse x*+4y* = 16 is:

a (+20) b) (0, +2() c) (+3®) d (0,+3®
Eccentricity (€) of an elipse x“+4y* = 16 is:

a) 2/C8 b) -2/C8 C) /2 d) -(B/2
Vertex of an dlipse x*+4y? = 16 is:

a) (+4,0 b) (0.+4) c) (+20) d) 0,+2
Equ. of major axis of elipsex?/a’ + y?/b?=1is:

a y=0 b) X=a ) y=a d) X=a

Equ. of lipse with vertices (+ 5, 0) and end of memoir axis (0,+ 1) is:
a xXI1+y5=1 b) x*+25y°=25 «¢) x¥5+y/1=1 d) Noneof these
If eccentricity e > 1 then conicis:

a) Circle b) Parabola ) Ellipse d) Hyperbola
For hyperbola x4 + y%/a = 1 vertices are:

a (0,+2 b) (0,00 © (+2,0) d) None of these
Ends of latus rectum of hyperbola 16y* — 9x* = 144 are:

a) (+16/3, +3) b) (+3, 4/3) ) (+3,16/3) d) None of these
For hyperbola4x2—9y 32x+36y—8 o If center is:

a) (-2-4) 2, 4) c) (2, -4) d) (4.2
Equation of tangent t; x2/a yg b2=1 wh| ch makes an angle45 with x-axisis:

a) y=2x+G&+h7 y=x + Ga+b?

o y=x +&+b* d) None of these

In the parabola y? = 8x, origin is being shifted to (1,1) the new equation is:

a) y’=8x+2y-9 b) Y2 =8x -2y -9

¢ y’=8x-8 d) (y*-1)? = 8x

2xy = 3isan equation of:

a) Parabola b) Ellipse C) Hyperbola d) Circle
The equation of tangent line to the curve x*-4y*+4=0 at y =1 s:

a y=1 by y+1=0 ) x=1 d) y=x-1

The focus of the parabolay? = 8x is:
a (20 b) 02 ¢ (40 d (049

Length of the latus rectum of the parabola x® = 8(y+2) is:



a 2 b) -2

c) 4 d)

37.  Thelength of the major axis of 4x*+9y*=36:

a 4 b) 6

9 O )

38.  Thecenter ofanellipse(x 1) /4+(x+2)2/16=1is:

a (29 yg )
39. If a=bin the equ. of x2/a +y2Ib? = 1 then conic will be
a) Circle Ellipse ¢) Hyperbola

40. Ax2+By2+Gx+Fy+C 0 represents acircleif:
) A=B b A1B ¢ A<B d

d)

d) Parabola

None of these

[tem-4 Match the items in the column A with column B and write the correct answer in column C:
0:1
COLUMN-A COLUMN-B COLUMN-C
a) Equ. of circleswithcenter at | i) xX* —y* = b’
origin.
b) Eqn. of an ellipsea>b i) X° = -day
c) Eqgn. of hyperbolawhen — a= | iii) X* + y*+ 2gx + 2fy + ¢ =
b 0
d) Eqn. of parabola whose focus | iv) x* + y* = r?
at (0,-a)
e) Eqn. of dirclein general form | v) x* /& +y°/b*=1
0:2
COLUMN-A COLUMN-B COLUMN-C
a) Radius of X"+y*+2gx+2fy+c= 0 | i)Ox,+y; +2gx,+2fy;+c = 0
b) Parametric equation of an ii)x=aCosqg,y=bSing
elipse
c) Parametric equation of i) x=asecq,y=btanq
hyperbola
d) Parametric egn. of parabola | iv) G+f-c
) Length of tangent segment of | v) x = at®, y = 2at
p(x1,y1) to the circle x* + y? +
2gx+2fy+c=0
0:3
COLUMN-A COLUMN-B COLUMN-C
a) Length of latus rectum of i)b
parabola
b) Length of latus rectum of | ii)2a
dlipsex®/ & +y*/bP=1
c) Length of latus rectum of | iii) 2b7a
hyperbolax®/ & - y*/ b*=1
d) Length of transverse axis of x° | iv) 4a
|-y’ Ib*=1
€) Length of semi-minor axis of | v) b7a

x| d+y =1




Q:4

COLUMN-A COLUMN-B COLUMN-C
a) Thetangent lineto acircleat | i) Parabola
any point is
b) Fore=1 ii)x=3
c) Vertex of y* = 6(x+3) iii) (0,-3)
d) Centre of x*/16+(y+3)79=1 | iv) (-3,0)
e) Directrix of y* = 12x is v) Unique
Q:5

COLUMN-A COLUMN-B COLUMN-C
a)x=acosq,y=bsnq i)x+y=3
b) Egn. of tangent line to|ii)4
x°/9+y“/12=1at point (3,4)
c¢) Normal to the circle x*+y*=10 | iii) 3/2
at point (5,5) is
d) The centricity of x*/2-y*=1 ivV)y—x=0
€) Latus rectum of x7/9+y’/6=1 | v) Ellipse

ANSWERS

[tem-1: Fill in the blanks:
1: {(h,k), r} 2: Origin 3: Circle 4: Tangent 5: Inside 6: On
7: Outside 8: O *+y *+20x,+2fys+C 9: Chord 10: Diameter  11: 2a
12: Bisect 13: Centre 14: Eccentricity 15: Parabola  16: Ellipse
17: Hyperbola 18: Axis 19: Latus ractum 20: Parabola  21: Ellipse
22:y=0 23: (-al, -b%/a) 24: x = ale 25 xa+ylb* = 1
26: x/b*+y’la = 1 27: b’ 28: b’ 29:y=+blax 30:y=0

ltem-2:

Encircle the correct answers:

1. F 2:F 3 F 4:T 5 F 6: F 7T

15T 16:F 17T 18T 19T

6. c 7b

15:a 16:b 17:d 18:b 19:d
27:d 28:¢c 29:d 30:d 31:b

13:F 14T

25:F 26T 27:T 28T 29T 30:T
Item-3: M.C.Qs:

1:c 22a 3b 4:b 5:

13:a 14:a

25:a 26:b

37:b 38:c¢c 39:a 40:a

Iltem-4. Matchtheitemsinthe column A with column B and write the correct answer in column C:
i eiii
i el
i el
i el
i el

coaiv bivooci d:
av biiv cii d
aiv biiii cv d
av bi c.iv d:
av bi c.iv d:

RRRE

8T O F 10: T 11 F
200F 21:T 222T 23T

8 a 9:b 10:d 11:d
200a 2l:a 22:a 23.c
32:a 33 c 34 35:

32
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14.
15.
16.
17.
18.
19.

20.
21.
22
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CHAPTER-7 (Vectors)

Fill in the blanks:

A vector quantity has amagnitudeaswell as......................

A scalar quantity isonly defined by its................

If A & B areany two points then its magnitudeis...........

A unit vector has magnitudeequal to .............

Two vectors AB & CD are said to be equal if their .............. are equal as well as their
directionsare.....................

If 0isthe origin and p(x,y) is any paint in the plane then the position vector OP =

If AB & BC are any two vectors acting along two sides of the triangle ABC then their
resultantisequal to ..................

If P=xi + yj then its magnitudeis equal to [ |

P=xi +yj thentheunit vector r = ....................

If Oistheoriginand p(X, y, z) isany point inthe spacethenOP=...............

If P= xi +yj + zK then its magnitude | 1 | = ................

If p(x,y,2) and Q (X»,y2,22) are any two points in space then the distance between P & Q is

If any line in the psace makes angles a, b, gwith x-axis, y-axis and z-axisthen ~ cos’ a +
cos’b + 008" g=..oevvunnnnnnnnn,

If any linein the space makes angles a, b, gthen Sifa + Sib + Sinfg=............
The scalar product of any two vectorsa & b isa................

If aand b aretwo vectorsin spacethena. b=...............
Ifa=ai+aj+akandb=byi+bj+bkthena.b = ................

Two vectors a, b aresaid to be perpendicular if a. b= ...............

Ifi, j, k areunit vectorsin spacetheni.j=........ jko= ki.=......ii.=......
JKeo= KK.o= .,

The cross product of two vectorsa& bisdonated by ax banditisequal to.................
If ¥=ayi + &) + ak and R = bui + byj + bk thenax b= ................

If i.j.k are any three unit vectors in the space, then:

IXj= ., IXTI= . jxk=....

|x1— ............. kxi=............. kxk= .............
Ifu=a1|+agj+a3k \? b1|+b21+b3kw Cll+ng+CgkthenU(VXW)
The scalar triple product of three vectors u, v, w showsthe.............. of aparalld.

The volume of atetrahedron OABC isequal to ...............

Encircle the correct answers:

The scalar quantity is a vector quantity. TIF
The vector quantity is a scalar quantity. TIF
The distance between two pointsin any direction is a vector quantity. TIF
If Oisoriginand p(x,y,z) isany point in the space then op = xi +yj — zk. TIF
If O isthe origin and p(X,y,z) is any point then op = xi +yj. TIF
If r =xi +yj then [T] = V=Y. TIF
If r =xi —yj then|r | = VE—+y?). TIF
Ifr= |+4Jthen|r|—\/29 TIF
1f P=4i + 2 then | r | = V21 TIF

If p(x,y) cuts linejoining the pts A(1,2), B(3,4) intheratio 3:4 then AP = 3/7 AB T/F
If p(x,y) cutsthelinejoining A(3,4) B(7,8) intheratio 3: 4thenBP=3/7BA  T/F
If r=1/2i +\V3/2j then | |=2. TIF
Two vectors AB and CD are equal vectors then their directions are the same. T/IF
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15.

16.

17.

18.

19.
20.

21.
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10.

11.

12.

13.

If AR = CD then their directions are not in same direction.
If i,j,k arethree unit vectors in space then:

i. 1j =k i, J.k =i i, ki =]
If 1,j,k are any three unit vectors in space then:
ioixj=i il Jxk=j i, kxi=k
If r,j,k are any three unit vectors in space then:

i) ixj =0 ii. Jxk=0 iii. kxi=0
If i,j,k are any three unit vectors in space then:

i) ij.=1 i, j.k.=1 i, ki.=1

If a=aitaj+akandb = by +byj + bkthenaxb=ag a+b b+ +c. ¢
If ax b aretwo vectors then

i jk
g
b1 by b3
a& b are any two vectors in space then:
ab=axb

If a,b, c are any three vectors then:

a.(b x c) always gives the area of a rectangle.

ab=

If &, b, c are any three vectors in the space then a. (b x c) gives volume of a parallelepiped.

T/F

Ifa = ai+a+ak b = by + by + bk C = G + ¢y + agk then:
a.(bxc)=b.(cxa)

a, b, c are any three vectors then:

i). a.(bxc)=[abc] i) b.(cxa)=[bca i) c.(axb)=[cah]

Chgose and encircle the best possible answers:
IfAXxB=0theng="

a 90° b 0° 0) 45°  d) None of the above
What isthe value of (2i —j) . (3i + k)?

a a-6 b 3 C) 4 d) 6

What isequal toi .i=j.j=k.k?

a 0 b) 1 C) -1 d) None of the above
What isequal toi xi=jxj=kxk?

a 0 b) 1 C) -1 d) None of the above
If x .y =0thenwhat isq?

a 0 b) -1 C) 90 d) None of the above

Thescalar projection of A =i —2j + kisontothedirectionto B = 4i —4j + 7k:
a 19/8 b) 9/19 ¢ 8/19 d) 199

The scalar projection of A = 2i + 3] + 6k tothedirectionof B =i+ 5j + 3j is:
a 6 b) -5 C) 5 d) None of the above
2ix3k="?

a 6 b) -6j C) 6] d) -6k

3ix(-2k)y="7

a) 6i b) 6k C) 6] d) 6

(2) xi)=3k="7

a). -5k *b -5 C) 5i d) None of the above.

IA xB_|2>+|A.B| =?_,

a AB Db BA ¢ IAF® |Bf? d) None of the above,
If three vectors a, b, ¢ are coplanar then the scalar tripleproducta. (bx c) = ?

a) » b) 0 ) 4 5 0 +1

IfA=2i—3—k B=i+4—2kthenAXB ="

T/F
T/F

T/F

T/F

T/IF

T/IF
T/IF

T/F

T/F

T/F

T/IF
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15.

16.

17.

18.

19.

20.

21.

a 10i +3j +11k
If A=2i —3j—Kk,
a) i-6j+22k

b) 10i —f + 6k 10i + 3 k
~ i + 4 — 2k then what (& + é’x A

N b) -2i —6j —22k c) 2i+6j+ 22k d) None of the above
If A=3i—j+ 2Kk, 2|+J—kandC—|—21+kthenwhat|s(Ax§xC ?

a) 24i+7]—-5k b) -24i —7j +5kc) 22i + 7] -6k  d) None of the above
Area of the triangle with vertices A (1,3,2) B (2,-1,1) and C(-1,2,3):

a V652 b) ~NI07/2 ¢ ~N1I07 d)  Noneof theabove
Thevalueof (2i —3j)) . (i+j-k) x Bi-k) =7

a) 4 b) 0 C) -1,

If R=3i+2j —kand B'=4i —j + 2k then A . B = 2

d) None of the above

w+

U:’+

None of the above
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a 6 b) 8 ) -8 d) None of the above
Theangle between A = 3i + 2j —6k and B = 4i -3j + Kiis:
a ,0 b) 45, 0 60 d, 9
IfA il + ayj + agk, B byi + byj + bsk and C = ¢4i + ¢, + ¢k then volume of the parallelepiped
is:
a) |a & a b) a b ¢
b]_ b2 b a1 b2 Cs
C1 C C3 a1 b3 C1
) |20 & d) None of the above
b; 0 bs
¢t 0c3
Area of the parallelogram having diagonals A = 3i +j -2k and B =i — 3j + k is:
a 5 b) 3 0) 1 d) 5V3
22. (i+2)xk="?
a 3i—j b) 2i-j ¢ 2+2k None of the above

23. The area of the triangle with vertices A (1,1,1) B (1,1,0) C (1,0,0) is:.

a 2 b) -2 ) 1 d)
24, If F=3i—j +k, d=2i +j + 4k then work done =?
a -9 b) 9 ) 1 d)

25.  IfA=6i+7, B=-7/2i +3jthen A & Bare

a) Paald

b)

Iltem-4: Match theitemsin the columns A with column B and write the correct answer in column C:

Perpendicular

¢) Neither

None of the above
None of the above

d) None of the above

0:1
COLUMN-A COLUMN-B COLUMN-C
aa.b i)a.b/ab
b)axb i) [axb|/ab
c) [3i —4j] iii)ab Sing
d) Cosq iv) 5
e) Sing v) ab Cosq
Q:2
COLUMN-A COLUMN-B COLUMN-C
a)(2i—j). @[3 +k i) x and y are perpendicular
b) 1 xj i) 1
o k.k iii)Work done=9
d) (2i—j—K) . (3i + 2] —5k) iv) k
e x.y.=0 v) 6




Q:3
COLUMN-A COLUMN-B COLUMN-C
a) |2i — 3j + 6K| )m=5
b) (6 —2j + 5K).( 2i —4j + 7k) | ii) a=23/19
C) (4i-5j-2K) . (-i+2j+4k) x i) 99
(5i+2j+3K)
d) (3i+mj-2Kk).(2i-4j-7k) =0 iv) 55
e) (2i-5j+k) . (3i+2j+2k) x v) 7
(2i-j+ak) =0
Q:4
COLUMN-A COLUMN-B COLUMN-C
a) Area of a Dwith vertices i)A||IB
A(2,1,-3), B(1,1,0), C(1,-3,2)
b) A=6i+7j and B =-7/2i+3] | ii) V195
o If *Af=>3i-j-2k, B=2i+3j+k | iii) 2195
then JAxB| N
d) If '=§i-j-2h B=2i+3j+k | iv) V6
then |(A+B) x (A-B)| is:
e) |2i+j-K| v) V41
Q:5
. COLUMN-A COLUMN-B COLUMN-C
a) |A x B+ |A - B i) O107/2
b)a (bxc)=0 i1
) i.(j x k) i) 8
d) (3i+2j-k).(4i-j+2k) iv) &, b, c are coplanar
e) Area of D with vertices | v) |AF|BF
A(1,3,2) B(2,-1,1) C(-1,2,3)
Q:6
COLUMN-A COLUMN-B COLUMN-C
a)(2i+3+6k).(i+5+3k) |i)4
b) (2i) x (3k) i) 6
c) (3i) x (-2k) i) 0
d) (2i-3j).(1+j-K) x (3i-k) iv) —6j
ea (axc) v) Work done = 35
Q:7
COLUMN-A COLUMN-B COLUMN-C
a)a (bxc i)0
b)[(3i-j+2K)x(2i+j-K)]x(I-2j+k) | ii) 1 S
oa(bxa=0 iii) Vectorsa& b Are
coplanar
d k. (i xj) iv) 17i+6j-5k

gaxa

v) Volume of a parallelepiped
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Q:8

COLUMN-A COLUMN-B COLUMN-C
a) (4i-3j+K).(4i-7j+4k) i) —8i —6k
b) Area of D with vertices | ii)2iH
A(3,-1,2) B(1,-1,-3) C (4,3,1)
c) 2j x (3i —4K) i) i —=10j =3k
d)(i + 2j) xk iv) Work done =41
€) (4i +j —2k) x (3i +k) v) 0165/2
Q:9

COLUMN-A COLUMN-B COLUMN-C
a) (1-2J-3K).(2i+j-K)x(1+3j-2k) | i) A right angletriangle
b) Y6[a(bxc)] i) 14i-14j-14k
) A33i2j +k B =2-3) bk | iii) 99
and C=2i+j4k verticesof aD
d) (4i+j+3k)x(2i-3j+5k) iv) volume of tetrahedron
€) (4i-5-2K) . (-i+2j+4k) x v) 20
(5i+2j+3K)
Q:10

COLUMN-A COLUMN-B COLUMN-C
a) 2(1+2j-3k) + 3 (5i-3j+7k) i) Area of a parallelogram
b) P(1,3,2,) Q(4,1,4) R(6,5,5) | ii) Work done
o Bx Bl iii) Area of DABC
d)F.AB iv) Form right angletriangle

PQR
e) /2 [ax b v) 17i-5j+15k
ANSWERS

[tem-1: Fill in the blanks:
1: Direction  2: Magnitude 3 |A73'| 4:1 5: Magnitudes, same
6: Xi +Yj 7: 39 side of atriangle but in opposite direction 8: | r|= Oc+y?
or/|r| 10: OP = xi +j + zk 11 |r | = OF 2 +7
12: PQ= Qo x0) 2+ (VoY1) +H(z2-21)° 13:1 14: 2 15: Scalar quantity
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16: a. b = ab Cos g wherea and b are the magnitudes of the vectorsa and b and q is the angle between

them.
17: ab= a]_b]_ + agbz + agbg

18:ab=0

19: 1j=0].k.=0 k.i.=0i.i=1].,j=1 k k=1

20: Fx b=ab Sin g (n). 3% bare magnitudes of a & b and q is the angle between them.

2L i j k| 22 ixj=k ixi=0 23:_»_’
b= |a & a ixk=i jxj=0 QX W) =
by by by kxi=j kxk=0

24:Volume  25: 1/6 volume of the paralle epiped

ltem-2: Encircle the correct answers:

1. F 2:F 3 F 4. F

122F 13T 14F 15)Fii)Fiii)F
18: i) Fii) Fiii) F 19°F 20:T 2LF 22F 23T 24T 250)Ti)Tiii) T

5 F 6: F 7T 8 F
16:1) Fii) Fiii) F

A b &
b1 by by
C G C3

10: T 1L F
17:1) Fii) Fiii) F



tem-3: M.C.Qs:

‘b 2:.d 3b 4:a 5¢c 6:d 7. c 8Db 9c 10:a 11:¢c 12:b
13:a 14:'b 15 a 16:b 17:a 18b 19:d 20:a 21:d 22b 23:c 24:'Db
25:b

[

Iltem-4: Match theitemsin the columns A with column B and write the correct answer in column C:

Q1L a5 b3 c4 dl1 e?2
Q2. a5 b4 c2 d3 el
03 a5 b4 c¢c3 dl1 e2
Q4 a5 bl c2 d3 e4
05 a5 b4 c2 d3 el
Q6: a5 b4 c2 dl1l e3
Q7. a5 b4 c¢c3 d2 el
Q08 a4 b5 cl1 d2 e3
Q9 a5 b4 c1 d2 e3
Q.10: a5 b4 c1 d2 e3



